2. ;rhe rulers of which of the following dynasty have
€en called as ‘Shriparvatiya' in Puranas ?

() Vakatakas

b) lkshvak
(€) Shake (b) Ikshvakus

(d) Kharvelas

3. Which ofthe following Committees recommended

a pnverty line based on nutritional requirements |
exclusively 7

(a) Alagh Committee
(b) Lakdawala Committee
(C) Tendulkar Committee

(d) Rangarajan Committee
4. The official Agronomai' duning Mauryan age was |
related with which of the following field ?
(@) Weight and measurement
(b) Administrative management
(c) Construction of roads
(d) Revenue Mmanagement '

9. Which of the following indicators is NOT used to |
calculate Human Development Index (HDI) ?
(a) Life Expectancy
(b) Education
/ (c) Per Capita Income |
| (d) Socia_l Inequality

6. Match List — | with List — Il and select the correct
answer using the codes given below the lists

List - | List — Il
(Mahajanpadas) (Capitals)
A. Matsya 1. Mathura |
B. Kuru 2. Potan .
C. Sursena 3. Virat Nagar
D. Asmak 4. Indraprastha
Codes : |
A B C D
(a) 4 2 1 3
(b) 3 1 4 2
(c) 3 4 1 2 |
(d) 2 3 4 1
A 2-

ﬁm%ﬁaﬁ@ﬁﬁﬁﬁaﬂq—mmﬁﬁamtﬁm
(T 2,375, ) < ToET 3 At TE feR S R ?

(a) STaq gcgmen

(b) Toraq
(c) wfa =afda ama
(d) GETRoTe FHTEAT
Tl — | =1 = - || | gafaa Hifse 7o gieat -
12 fed M % /@ v I IhC
g - | = - 1
(WETg) (et
A. Ty 1. 74U
B. F% 2. 94
C. I&EA 3. fereTw
D. 3°% 4. IIH
Fe
A B C D

(a) 4 2 1 3
(b) 3 1 4 2

(c) 3 4 1 2
d 2 3 4 1
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10.

11.

"y’ was given by
(B) Gunnar Myrda

(a) Oscar Lewis
(c) Aashish Bose

8. Given below are two

statement :

the other as Reason (R) :

gve much more Information
€Ir predecessors

Reas'rnn (R) :. The Chola rulers adopted the
practice of having inscriptions written on the walls

of temples giving a histori narra
cal na
— rrative of their

Codes :

(a) Both (A) and (R) are true ang (R)
correct explanation of (A)

(b) Both (A) and (R) are true but (R)
correct explanation of (A)

() (A) is true but (R) is false

(d) (A) is false but (R) is true

IS the

IS not the

9. During the mid 80's decade of twentieth century,

the negative aspects of development were
discussed at large. Which one among the
following was NOT such important ?

(a) Degradation of natural resources
(b) Environment pollution

(c) Politics and Development
(d) Displacement and Rehabilitation of masses

Which of the following Indian Archaeologists first
visited ‘Bhimbetka Caves' and discovered prehistoric
significance of its rock paintings ?
(a) Madho Swaroop Vatsa
(b) H.D. Sankalia
(c) V.S. Wakankar
(d) V.N. Mishra

No. of cities in U.P. which are covered under the
‘Smart City' Scheme
(a) 10
(c) 15

(b) 12
(d) 18

10.

1.

(a) =R 39 g1
(c) JTefie =18 g (d)

9 2 =y fed a1 &, B o = Sy (A) T

TEL I FHOT (R) FET T4 R

o (A) : &7 S % R # 3T qdad qeEd

H e Itfus AFER B |

WO (R) : ST T 3 "l 1 dami w AhE

I w7 e Oy R R 3 e

& ey faawo f&2 9 9 |

2 A T e # | & IW T =G FIAC |

%

(@) (A) 3t (R) 2H1 @& & 3R (R), (A) I @&
1 T B

(b) (A) 3t (R) 21 @& & 9 (R), (A) 1 &
ST T81 HT B

(c) (A) & 2 T3 (R) Teid 2

(d) (A) Tera 2 9T (R) HEl 2

fraei wd) 3 3t o T & qeA fqehrd o TR
y&fi ot fepeam & == 1 T | Fraferfaa 8 | -
Teh 398 HEea{ol Al 417

(a) STepfersh HETEAT T &R

(b) TatereT STgET

(c) T ua fard

(d) FHET &1 e u§ et

frafafes 4 @ fee wde Qe 3 gaet
TR imdgE TR B @ AR IEe Sl *
yriferafies mEe @ @ 7

(a) AT TEY ToH

(b) T=. ¥, Hehrferan

(c) S.wq. aTHet

(d) .. e

3. I W IR S e R Ao & e @
(a) 10 (b) 12

(c) 15 (d) 18
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RFL _,

@ — | = gt — || 8 gafera Hifdm qey
- lect the correct 12. gt - | F[f%rqﬁ ¥
12 Match List — 1 with LIsk= "-EE: zzlﬂw the lists f2 fo2 ™ g2 | 7 IW g |
answer using the codes gi¥ List =1l et - | - 11 |
i} JT/State of India) (EaguRm) (WO v dT)
(Harappan Site) ( radesh A. T 1. IT W
uttar - :
A. Balu 1. —— B. OTS1 2. T UF sy
B8 Manda » Jammu and Kas | - f % Wt
C Padri 3. Haryana D. & 4. T
D. Hulas 4. Gujarat 2 :
Codes : I A B 8- D
A B ¢ D @ 3 2 1 4
@3 2 1 % | b 2 3 4 1
“”5231 ¢ 2 4 3 1 |
(c) d 3 \
N — lopmentwas | 13. 4 1987 & @ged Tg ¥ yafaw & gl
13. Thediscussionon Sustainable Developn U
started after submitting a report on environ ment S i YA & ITT Uiy e (AT
to the United Nation in 1987. That report was SIATHUE) W == A &S| 97 wheded
(a) First Report on Climate Change (a) amvwﬂaa‘q W YRS Yfaaed
(b) Our Common Future (b) 3T HHT R
(c) Second Report on Climate Change (c) Trlfﬁng 'Iﬁa?h RGO PIGE I
(d) Fifth Assessment Report (d) 9T=ET gearehd fade
14. Consider the following statements and select t-he 14, Fefafgs st w fEr $ifre a1 R fQ@ ™
correct answer using the codes given below : | $Z 4 HE I i -
1. The Sun temple of Multan is mentioned _
by Hiuen Tsang, Abuzaiyid, Al-Masudi and 1. B9 & T 9f=T 1 3eoiw B, ATSISR,
Alberuni. w qYgT cde] 3 'ﬁ;‘!ﬂ % |
2. The pilgrimage to Sambapur was 2. =Y IrAleHd FEfTrrr | grafg o |
associated with Sun worship. F2:
Codes : 3
(a) Only 1 is correct (a) 198 2
(b) Only 2 is correct (b) et 2 wEt 2
(c) Both 1 and 2 are correct (c) 13K 2 gt wet &
(d) Neither 1 nor 2 is correct (d) T 17 & 25 2
15. The Atal Innovation Mission (AIM) is a flagship [ 15. 31es T9y fiyym o
Initiative set up by T8 2 7 (T3 . form & e
(@) Ministry of Human Resource Development (a) TS a9 T S
((dC)) m;::::w z; ‘;‘qcfal Justlge% an: ITpowerment () AR = T e
16.  Who of the following was sent as representative of 16. ¥YRd R R 1919 H ARB.TA.A. & QAT
labourers by Indian Govemment in the Washington e o weieU 1 Wity & =g o fafefea o
Summit of |.L.O. in the year 1919 ? | fovd Yo m o 2
(a) V.P. Wadia (b) N.M. Joshi (a) Sit.dt. arfeam (b) T.wH. Freh
(c) C.F. Andrews (d) Joseph Baptista (c) H.u%. T (d) IRE IR
A 4.
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18.

19.

20.

21.

(b) Karl Marx
(d) Rajgopalan

\_M;t?qraehfﬂﬁ:lie ﬂt?t;he Treaty of "Aix-la-Chapelle
i e following statements is/are

1. Thel C
2. The En
Select the
below.
Codes :
(a) 1 only
(c) Both 1 and 2

armatic War was ended.
glish got back Madras.

correct answer using the Codes given

(b) 2 only
(d) Neither 1 nor 2

Which one dmong the following is NOT covered under |
Integrated Child Development Programme ?
(3), Supplementary Nutrition
(b)Y Immunization
(d) Nutrition and Health Education
(d) Family Planning
Match List'—- | with List — Il and select the correct
answer using the codes given below the lists -
List — | List - |l
A. Indian Arm Act 1. 1876
B. Royal Title Act 2. 1878
C. Indian High Court Act 3. 1869
D. Indian Divorce Act 4._1861
Codes :
A B C D
(@) 2 3 1 4
(b) 3 1 2 4
(c) 1 2 3 4
(d) 2 1 4 3
Match List — | with List — Il and select the correct

answer using the codes given below the lists

List — | List — Il
A. Indus Valley Civilization 1. Pastoral
B. Later Vedic Society 2. Land Lordism
C. Rigvedic Society 3. Agrarian
D. Medieval Period 4. Urban
Codes :
A B C D
@4 2 3 1
(b) 2 1 4 J
)3 4 1 2
(d) 4 3 1 2

RFL -1
17. = 1962 # v gEaw e e frea i
¥ vl s @ T e, 3 T
(a) Firef ke (b) <HTe T
(c) = wrEA (d)
18. “dFm-mi-viE — 1748" @ @iy & @ |
frafofigg suai 8 @ FF-T/A g8 2/3 7
1. 9Uq HATeH qg =l T |
2. 3UA] &l HFE G A g3 |
R A M e @ g I IFT |
Eﬁﬁm (b) had 2
(c) 1 3k 2 2 (d) AT 1T 2
19. TufEE are faem ofEe % aata frafatad
§ | H-g1 vk afmferd T8 R ?
(@) T T
(b) FamTaRtoT
(c) Hrvr e TaTEA e
(d) ufam e
|
20. g — | B R - 1| A gAfer Hifde, T FHEE F
2 for M %2 A 7d I g
| 'vFEﬂ—| F@"“
A. VT I ATaHEH 1. 1876
, B. wd 7e arfufm 2. 1878
C. Wil 3=9 =Iaed rfufam 3. 1869
| D. widr fame fa=oe sfufmm 4. 1861
. Fe :
A B C D
@ 2 3 1 4
(c) 1 2 3 4
' (d) 2 1 4 3
| 21, g -1 9 g - 1 A At v o g F
= f ™ g @ v I T
= - | = -
A. fay ardl gwra 1. SATR
i B. I dfes au 2. ST
| C. Tl qq 3. UH
D " A 4, T
e .
A B C D
' (a) 4 2 3 1
| )2 1 4 3
| (c)3 4 1 2
d4 3 1 2
5.

= 1:""'" ']: Searl
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2
22. Who had merged Sikkim in Indi3

E (a) Lord Hastings
(b) Lord Willlam Bentinck

1 (c) Lord Dalhousie
(d) Lord Auckland

U P became million

ies of
Kanpur and Lucknow citie 4 in the year

cities as per the census of Ind!
(a) 1951 and 1861 respectively
(b) 1961 and 1971 respectively
(c) 1971 and 1981 respectively
(d) 1981 and 1991 respectively

23.

| oT
24. Who among the following ’Eadersncnggble
participated in the Second Rou
Conference ?
(a) M K Gandhi
(b) Sarojini Naidu |
() Pt. Madan Mohan Malviya

(d) Dr. Rajendra Prasad

25. Match List — | with List - Il and select the gorrgct
answer using the codes given below the lists .

List - | List =l

A. Jajmani 1. North India

B. Bara Balute 2 Karnataka

C. Mirasi 3. Maharashtra

D. Adade 4. Tamil Nadu %
Codes

A B C D

@1 2 3 4
(b)1 3 2 4 .
c)1 4 2 3
d1 3 4 2

26. Match Listl— I with List - Il and select the correct

answer using the codes given below the lists :
List - | List — ||
(Book) (Writer)

A. The Story of My 1. Surendranath

Deportation Banerjee
B. Cita Rahasya 2. Maulana Abul
Kalam Azad

C. A Nation in Making

3. Lala Lajpat Raj
D. India Wins Freedom JPat Rai

4. Bal Gangadhar
Tilak

—_—wWwwhD

(d)'?r'::éﬁ;—-f’:n".:
23. 31 aca N hiqqT ﬂsﬂ' .
EC =rﬂiqimﬁ7:n3%p§m;?ﬁ%;
(a) #971: 1851 3*4’71961'5 53 - *\«1\‘
(b) #H71: 19681 wh 1971 &
() ;1971 3t 1gg. =
(d) FH7I: 1981 3n 1991;’
(a) T8.%. 7y Ty
(b) BT 3772 |
(c) 9727 Tz5 S
R SRk TR
ngﬁgﬁfwﬁfﬁqmwg
T — | 3¢
A. FFETH T - )
B. AT =y 1. I 9y
D. =2 - HEmTe
Fe 4+a'ﬁ:|-a:"§
A B ¢ D
(3)1 2 3 4
(b) 1 3 2 4«
(C)1 4 . 3
d1 3 4 5
26. SSUNEE D
o NN - :‘”gI :
R 2 8y T T
T - | .
A 2@,@) (Fs)
a e
m%q‘%m; 1. A T
B. et g > -
C. 3 3 w afem 3. SN T g
Dmﬁﬁm 4, T T |
%< ;
(@) 3 4 1 2
(b) 4 2 1 3
c) 2 4 1 3
d 4 3 2 1
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27. The concept of ‘Marginal Man’ was propounded by | 27.
(a) Robert E. Park (b) Robert Redfield | W VoW T )
(a) T 3. Ik (b) T TTHITS
(c) Louis Wirth (d) Louis Dumont (c) =% o (d) &3 gAT
28. Who among the following established a modem | 28 frfafiag & & #= 1755 # f3feme g 9 T
armoury in Dindigal Mysore in 1755 ? I IYfe TR &1 TmgET 6 ot ?
(a) Nanjraj DEELE
(b) Haider Ali (b) &t 37eh
(c) Devraj (c) T
(d) Chikka Krishnaraj ' (d) Pt FomT
29. Which one of the following is NOT a major cause | 29. fr=fetfaa o 8 ®H-81 7 g=rarfuri < faegedtent™!
of Wildlife Extinction ? | &1 Yq@ S0 TE 8 7
(a) Loss of natural habitat (a) WTHfas TG H1 T &
(b) To make fire in the forest (b) ST H ATT A LGl
(c) lllegal commercial trade of wildlife (c) F=wIforat =l a3y gifvifsgs =R
(d) Fast pace of population growth | (d) SEE & dF gfg
30. Given below are two statements, one is labelled | 30, % @ Fem fed ™ 2, fomil % &1 A (A) 3N
as Assertion (A) and the other as Reason (R) : Zat = FR (R) FHaT T 2
fn:.;s:rtindn d(.:) : 'ft'hle :ritish Govertnment o (A) : Fafes @R 3 WRA F 37er1- e T
Introgucea airierent land revenue system i
different part of India. Y “ % WA G S-S m WL
Reason (R) : It led to create different classes in HUI (R) : $98 WA e 5 v - e &1 =
Indian peasantry. T |
Select the correct answer from the codes given 2 fod ™ e ° | | IW IHT |
below. F:
Codes : | (@) (A) 3 (R) <HT #& & 3R (R), (A) F1 Fel
(a) Both (A) and (R) are true and (R) is the ST FT 2
correct explanation of (A) | (b) (A} . (R)Eﬁi a3 T (R), (A)ﬁﬂ%’!
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A) ‘ ST e T &
(c) (A) is true but (R) is false (c) (A) T&l & 9] (R) Teid 2
(d) (A) is false but (R) is true (d) (A) Ted B W] (R) HaEl 2
31. In August, 2020 Railway Museum in India was | 31. WRd H 37T, 2020 1§ frefafes =i 8 1 F@
dedicated to the nation at which of the following T GIEed U 1 Tufta fEar w2
?)
(gfﬁjbbani (b) Mysore (a) gl (b) HF
(c) Silvasa (d) Chittaranjan | (c) Taeamar C)RENIEE
-
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32. Consider the following

chronological order :
1. Fatawa-i- Jahandar

2. Pnthviraja-Raso
3 Kitab-ul-Hind
4. Tabaqat-i-Nasiri

(a) Saudi Arabia

(b) Kuwait

(c) United Arab Emirates
(d) Qatar

34. Who was the ruler of Golkonda when Aurangzeb

seized the fort of Golkonda in 1687 ?
(a) Abul Hasan Qutb Shah
(b) Sikandar Adil Shah
(c) Ali Adil Shah II
(d) Shayasta Khan

35. Which of the following neighbouring countries of
India has banned free internet for social media
in July, 2020 ?
(a) Nepal

(¢) Myanmar

(b) Bhutan
(d) Bangladesh

36. Which of the following statement/s is/are correct ?
‘1. Akbar tried to fix the age of marriage for
boys and girls.
2. Akbar gave freedom to girls to marry at their
own will and not under parental pressure.

Select the correct answer using the codes given
below.

Codes :
(a) Only 1

(c) Both 1 and 2

(b) Only 2
(d) Neither 1 nor 2

33.

34.

35.

36.

H |3l B/% 2
~ %ﬁmﬂﬁmﬂ

2. JHe A ARl H I ¥ oo |
wd ) 501 @ fawe R A G |
ﬂ%ﬁﬁﬂﬁwwmaﬂaﬁmgﬁm

He :
8] %o (b) ¥ 2
(d) IT198 2

(c) 1 3R 2 2
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37. Which of the following statement/s about ‘India
Ideas Summit, 2020’ is/are correct ?
2 EWHS organised by US — India Business
5 T'?:Tﬁg ;lrtu?lly on 2279 July, 2020
ey e of the Summit was ‘Empowering
g:llsit_ the correct answer from the codes given |
Codes ;
(a) 1 only b) 2 onl
(c) Both 1 and 2 Edi Ngith)éaﬂ nor 2
38. Match List — I with List — |l and select the correct
answer using the codes given below the lists
List — | List — Il
(Officer) (Assign Duty)
A. Diwan-i-Tan 1. Look after the office
B. Mustarfi 2. Maintained a proper
list of main events
and firmans
C. Mushnf 3. Look after the Jagir
and Salaries
D. Vakianvis 4. Examine the income-
expenditure of State
Codes :
A B C D
(a) 2 4 1 3
(b) 3 4 1 2
(c) 1 3 -, 4
(d) 4 1 2 3
39. The Uttar Pradesh Cabinet has approved on 29"

40.

41.

July, 2020 to establish a National Law University at
which of the following cities ?

(a) Kanpur (b) Lucknow

(c) Gorakhpur (d) Prayagraj

Which of the following is NOT correctly matched ? |
(a) Shaikh Moinuddin Chishti - Ajmer
(b) Shaikh Burhanuddin
Gharib — Daulatabad
(c) Shaikh Mohammad
Hussaini — Gulbarga
(d) Shaikh Nizamuddin Auliya — Multan

Indian Minister of Youth Affairs and Sportﬁ l 41.

announced on 25t July, 2020 that in 2021 fourt
‘Khelo India Youth Games' will be hosted by
(a) Haryana (b) Uttar Pradesh

(c) Karnataka (d) Maharashtra

37. sfvga smsfem afEe, 2020 & -y # frefatad

38.

39.

40.

RFL -1

e /el 1 A SE-| /A T8 R/ T

1 =y mfrem-vrd saran aftaeg gr aEd:
22 F& s, 2020 < FAId fewan

2 zer fawa (2fm) i @ wAfEdEREr Al

fr foit e @ @ I AT

% : q

(a) Ha (b) &HadA 2

(c) 1 1d 2 M (d) A 1R 2

tﬁﬂ—laﬁqﬁ-llﬁg&%ﬁmﬁ@ﬁ*

3 foit T e A |A ITCH AT

it - -

(atforeerd) (farfga =)

A. dEaE-u-dd 1 wrater @ ETEH W (e

B. qEaThi z.ugra'amaﬁawﬁtﬁl
gfaag &

C. qft® 3 AT a 9a4 sl <@l

D afpamda 4. TSA ol AE-STT H
figgor &

E T

A B ¢ D

(@) 2 4 1 3

) 3 4 1 2

(c) 1 3 2 4

d) 4 1 5 3

1 FrTeA fohar @ 7

(@) ShTIT (b) @S

(c) TREY CIRRINE

frefafiad ©f @ SE-T1 98 gaferd T8 & 7

(a) T@ HEAEH e — 3

(b) 1@ FEHEH T B SICI

(c) Tg Higwe gaHl . SE

(d) @ FomEe fen - HedH

VT 3 g Hdsh 3T W Wl F 25 JdT, 2020
=1 g fear @ B ad 2021 ® = zfogm
gy T <) HerE TR St

(a) BiEmn g (b) I T G
CESIEERAN (d) WEWTSE, G
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— # 3 fra e ‘ulﬂ?ﬁq TE it
%' od canals, was | 42 Crir TTTE £ TG <l RERLUEDEE2C R & ™
: ing Mughal perod Ll ¢ Firuz - (). TR gt ?
| 42. Which of the following Mug Rajabwah (a) FEL
constructed by restoring thé _u-fafgzd () T&T-U-3mm
: Shah ? (b) Shahab Nahr l (c) T8
(a) Shekhnu-Ni Li-Agra WA Feare
(c) Nahr—i-TBL:hislht (d) Nahr+-Ad b | 43 WW A - iyl RRIES
| dian Footbal Clu ¥ o7en et feud AgsTE (NASDA:Q) a;w
43.  Which of the following ball club to featur® qr 29 TS, 2020 Tl T8 U H qren o
became country's first ever f00 s Time Square T aAd |41 7 e
on NASDAQ billboards in New YO 2 FTd
on 29% July, 2020 7 (3) b e
(a) East Bengal (b)
(b) Churchill Brothers (c) tﬁg:' I
(c) Mohan Bagan (d) FTE PedTed i
(d) Bengaluru Football Club . R
- the author of the 44. ks “u- SSLE
44. Who among the following Was G 91 7
book 'Kitab-i-Nauras' ? (a) sarfan anfeat W fed
(a) Ibrahim Adil Shah I (b) 37l arrfeet &
(b) Ali Adil Shah (c) Hell Fqa W@
(¢) Quli Qutab Shah Fhat fgda
(d) Akbar II @

45. The first ‘Kisan Rail' of India started its journey on [ 45.  WId H1 el ThAH W freafafea A =
8th August, 2020 between which of the following % o9 8 31, 2020 # AT I YRy ) ?
two stations ? (a) miETETE 3 BT
(a) Ghaziabad and Howrah | b) caATH! (AaNTeZ) 3tk SHETYH faen
(b) Devlali (Maharashtra) and Danapur (Bihar) EC; Tt 3t 73 ﬁ;ﬁ ( )

(c) Nasik and New Delhi d) T1fas 3tk
(d) Nasik and Ahmedabad (d) SEHCTETS
46. In which of the following districts of U.P : mzjor 46. 3T U & Mr=ferfiad firedi § 3§ fry 2018° %

solar power plant was established in collaboration % &I | U 98¢ R FHat 03 ) uTfag

with France in 2018 ? TR ?

(a) Agra (b) Ballia (a) ATTO (b) afem

(c) Deoria (d) Mirzapur (c) eafn (d) firsri

47.. Which of the following is NOT comrectly matched ? | 47. fim=ffigs & & ST gafer T8 2
(Summit) (Place) R:]tﬁﬂ:‘) e ’
(a) EastAsia Summit, 2020 - Singapore (a) 32 Uiy T 2020 i )
(b) G-20 Summit, 2019 - Osaka (b) Gﬁ—ZUH‘EﬂFI’—I 20119 — AT9TeRT
(c) G-7 Summit, 2019 — Biarritz (c) Sfi-7 ate .2019 _ IE LIRS
d) East Asi j - ’ -
(d) East Asia Summit, 2019 Bangkok (d) = wfiry TEEE 2019 _ 2
48. How many more ‘Ramsar Sites’ were added t '
O | 48. SHalt 2020%. 3¢ [ fopem 3T et =t
Uttar Pradesh in January, 2020 ? qrse’ | ElTﬁiF,{ %ﬂf’iﬂﬁ ? - R
(c) 9 (d) 12 (D) ©
(c) 9 (d) 12
A
-10-
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49. In which of the following States of India the | 49. wna & fasfafga o= 4 & frad Fifag-19 a
first-ever E-Lok Adalat was started during the

NIET TEY 7
COVID-19 period ? B uEell am $ :WFE) &
(a) Uttar Pradesh (b) Maharashtra (a) 3T W HamTes

(c) Chhattisgarh (d) Bihar (c) BHETZ (d) faem

50. F=afafas sanfagi § 3 FF-11 yrE & 3vEEE

50. Which of the following tribes is NOT the native to the

Andaman and Nicobar Islands of India ?

AR Fepran v wgEi R g far T 8 7
(a) Halchu (b) Rengma (a) W (b) ITrq']
(c) Onge (d) Shompen (c) 373 (d) 9T

51. With reference to the detailed report of Tiger | 51 WA @@&R gm TS 2020 W =i 1 o 2018
Census 2018 released by Government of India

. . . Sl foga ufqaes & o= 1 fnafeafag w931/
in July 2020, which of the followin Statement(s " S B - X s
Is/are correct ? 2 (8) YT 4 | ﬁ?*’?ﬂ/q HEl /R 7

1. Indialhfgs 70% of total global tiger's 1. A 1 favg & &1 191 6 3Ed =1 70% 2 |
Population.

2. Nearly 30% of Indi

. 6 i!ﬂ:m.“ %
a’s tigers live outside =, A E)ﬁq : e e
tiger reserve TR TES B |
;Sellect the correct answer from the codes given A2 fea m e 8 98 I i |
elow.
Codes : Re
(a) 1 only (b) 2 only (a) Fa= (b) e 2
(¢) 1 and 2 both

(d) Neither 1 nor 2 (c) 1 3 2 2 (d) Td@ 13 & 2
52. Which of the following rivers isaTrans-HimaIayan 52.

Frefafaa 8 @ FH-a1 w 7 e -
river ? (gra-famrera) 781 2 7
(a) Jhelum (b) Sutlej BERL (b) HdeTS
(C) GEI’IQE (d) Ravi (E) TITH (d) ‘{Tﬁ
53. Which among the following hosted ‘Global | 53 Frefafas & & fead iee Svdm goes €
vaccine Summit' on 4th June 2020 2 4 3[4, 2020 I gAaTH & 7
(@) United Kingdom (a) ZA13eE fohmem
(b) United States of America (b) FgFa =g 3mafET
(c) India (c) ¥4
(d) China (d) =19

94. Which of the following is NOT correctly matched ?

54, ﬁmﬁfi‘@ﬁﬁﬁﬁq-mﬂégﬁ%ﬂqﬁ% ?
(Tribes) (Location) (S=Tfa) (sraterta)
(a) Angamis - Nagaland (a) 3Ty - ATeAvE
(b) Birhors —  Jharkhand (b) Te@R - ATEUS
(c) Khas - Arunachal Pradesh (c) @9 - HRTES WeTn
(d) Todas ~  Tamil Nadu (d) 22 - BIEEIE
o8,

Sarthak' launched in August 2020 by Ministry of | 55.

Defence, Government of India relates to which

& AT, T U 21 37y 2020 1 IRy o
of the following ?

wm'ﬁﬂ%f@aﬁﬁfﬂﬁmﬁ%m% ?

(a) =1 |y
(@) Smart Bomb i N
(b) Rocket Launcher (D) THT waTeh
(c) Offshore Patrol Vessel (C) T T ERE
(d) Light Combat Aircraft (d) &o wTems fau
A A1-
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56. Match List — | with List — Il and select -~
answer using the codes given below the :

List -1 List =1l
(Lake) (Location)
A. Sala Lake 1 Arunachal Pradesh
B. Badkhal Lake 2. Haryana
C. Loktak Lake 3. Manipur
D. Kaliveli Lake 4. Tamil Nadu
Codes : .
A B C D
(a) 1 2 3 4 |
(b) 2 1 3 4
(c) 1 3 2 4
4 2 3

(d) 1

57.  Which of the following State Governments has |
started ‘Pashu-Kisan Credit Card’ Scheme in year

2020 ?
(a) Gujarat (b) Haryana
(c) Punjab (d) Rajasthan

58. Given below are two statements, one is labelled |
as Assertion (A) and other as Reason (R) :

Assertion (A) : Ahmedabad is the largest centre
of cotton textile Industry in India.

Reason (R) : Ahmedabad is located in Major |
cotton growing region of India, so it has no
problem of raw materials.

Select the correct answer from the codes given
below. '

Codes :
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)
(¢) (A) is true but (R) is false
(d) (A) is false but (R) is true

59. On 27" July, 2020 Prime Minister of India virtually
Inaugurated three new Indian Council of Medical
Research (ICMR) high-end testing laboratories for |
COVID-19 test at which of the following places ? |

(@) New Delhi, Kolkata, Chennai '

(b) Kolkata, Noida, Mumbai '
(c) New Delhi, Kolkata, Mumbai

(d) Chennai, Delhi, Mumbai

or

58.

09.

-12.-

RFL

s

:

ft -1 & zer 9T
;F@ﬁarra%?ﬂﬂ@ Tt — i

=t - | (arafeafq)

(gﬁﬂ)gﬁa 1. 3TEOTEE W
A. AT 2. gf@mn
B.ﬁ@ﬂ?ﬁi 3. AU

IR
; P 4. AMEEHTg
EE N c D

4

(@) 1 f 3 4
(b) 2 2 4
@ 1 4

- ﬁgmmwﬁ'qﬂ*m%ﬁz
m,m_ﬂgmaézuzoﬁf%m%?
a) a4 (b) BT |
Ec)"hﬂa (d) T

ﬁamﬁanﬁ%,ﬁqﬁﬁﬁﬁw(ﬂ)m |

. S8l T & -
e, e 3 T e 78 5

(E_)d(:A)aﬁ'{ (R)?ﬁ’-ﬁa?a"l‘%‘ FHR (R), (A) ) wgt

STET T 8
(b) (A) 31 (R) gHi &&l & T (R), (A) H

ST 481 HT 8
(c) (A) wE 2 fFg (R) T @
(d) (A) Tera 2 forg (R) @& 2

27 1, 2020 T WA & qurEEs 3 Prefafed 3
fre T w ifas-19 wliem & o & € vyl
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85. Consider the following statements about Niaw 66 s 78 = e Aifa % WY i ht?hﬁm ;
National Education Policy approved by Union o 1 fa=m AT, *
Cabinet of India on 29" July, 2020 w g"f 5. ?FI:‘IW 1 JreagT e IqJf":ﬁ"ﬂ
1. It was drafted by a Committee headed by 1. 98 ﬁ;ilﬂ £ s oft |
Dr. K Kasturirangan. altl faeef foe h
2. It will replace the previous Edu:.l‘.atltﬂgﬁpﬂliw » @ fard 38 ad & =] 1 iy i
which has been followed since las zift | _
years aagrﬂwﬁqﬁiﬁaﬂ/mﬁﬁﬁn|
Select the correct statement(s) from the codes )
given below. e - (b) &S 2 |
(a) 1 only (b) 2 only ((c; 1315',{2—3,:{} (d) 991137 2
(c) Both 1 and 2 (d) Neither 1 nor 2 N
o grdt e .
66. Valley of Kashmir is situated between 66. +mﬁ3ﬂ—{ ATl qdd - ATl fh =
(@) Kangara and Dhauladhar ranges (a) qﬂ—(lil _I Wg_l i feamdl qzia—érﬁim * ey
(b) Pir-Panjal and Himadri ranges (b) A el qﬁiﬁ—m =+ Oy
(¢) Mahabharat and Dhauladhar ranges (c) Eﬂﬂ‘.’d T AT HETITd qefd - AT qoy
(d) Pir-Panjal and Mahabharat ranges (d) 9it- | ,
| ~ | TsaEd gl AT, 9
67. Which of the following Indian States/Union | 67. ﬁﬁ%ﬁﬁaqﬂﬁ:ﬂ :ﬁm';ﬁ qrqon 6 78 2 -
Territories launched Electric Vehicle Policy on &1 faerd Hiferd dTe- !
7" August, 2020 ? qeqgeTl (b) I T
(a) Madhya Pradesh  (b) Uttar Pradesh (@) (d) AT
(c) Delhi (d) Tamil Nadu (c) feeett
prfafaa g Afea 7 famm iy,
68. Consider the following tributaries of River Yamuna | 68. IgA1 T‘ff I & o 1 3 A B R Hifim 2
and arrange them from West to East 3 3= iz T:i !
1. Betwa 1. dddl
2. Ken T
3. Sindh foy
4. Chambal i
Select the correct answer from the codes given : e |
below. 2 feit T e | Rl I AT
Codes : RE:
b) 1,2,3 3N 4
(a) 4, 3, 1and 2 (b) 1, 2, 3and 4 . (a) 4, 3,1 3R 2 (d)2313ﬂ14
(c) 3,2, 1and 4 (d) 2,3,1and4 (c) 3,2, 131 4 (d) 2,3,
69.  Which of the following Indian Foundations has | 69, fr=ferfaa § & fra YR HRPUSIH 7 30 2020
received the Food Vision 2050 prize in August i g2 fasH 2050 TR U e 7
2020 ?
(a) Smile Foundation (a) IS HIITSTH
(b) Naandi Foundation I OEIEARIELENE
(c) Adani Foundation (c) 3131‘—'1’! HII0SIH
(d) Reliance Foundation . (d) femag w3veyH
70.  Which one of the following is NOT correctly | 70. fi=fefiga § & -4 U 8! aqferd T 2 7
matched ?
(Country) (Iron-Ore (29) (FR—wf = Ieares &)
Producing Area) (a) @R - &g
(a) Kazakhstan - Karaganda b) T - fwar
(b) Ukrain - Krivoy Rog (b) St
(c) Germany - Normendy (c) \_’1‘1_ 2l - Hug
(d) France - Pyrenees (d) T - UEE

Scanned by TapScanner



% RFL - |

71. First ever containership from Kolkata Port to | 71, wrerm @eoms & Fmden & oo Tl @1
Agartala was sent through which one of the qTAaTRS FAETH JATS 2020 | ETATEH
following Ports of Bangladesh in July 2020 ? i g frm a=<ume | B Y9 T 7
(a) Benapole (a) =99
(b) Maloti (b) AT
(c) Payra (c) ¥
(d) Chattogram (Chittagong) (d) Fgrm (faemm)
72. Inwhich of the following regions of the world, the | 72 farva % Freferfian wewi & & foed w2 whdl we
production of citrus fruits is well developed ? &l 3cqTcH 9ad fasrfara 2 7
(a) Monsoon regions (a) tl'H'ﬂ[Eﬁ TeTI
(b) Tropical high lands regions ' (b) IWTHfea-HE I==nH W
(c) Mediterranean regions (c) YHEETHE REE]
(d) Equatorial regions (d) qEeTTEE T
73. Whoamong the following has been awarded with | 73. geAf fasm waTEg, Wid 3R g gené 2020 |
g;;hgz ETE E;a::gence' Award in Earth System frofefag § @ 5 32 yoredt e q AR®
Government gf Indiab'g I 13 Iepeedl’ TEHI A<M e T 2 2
(a) S. Suresh Babu (b) P.L. N.Raju (a) TH. {1 ATe (b) . . . T
(c) S. P.S. Kushwaha  (d) Ashok Sahni (c) TA. di. UH. FIETET (d) S AR
74. Match List— | with List - Il and select the correct | 74. = — | %1 F=fl — Il & FHfeTd Hifre, 7 gt
answer using the codes given below the lists fr= fea ™ %2 | "Rl I T
List -1 List - Il T - | g=it - |l
(Tropical cyclones) (Country) ' (FTRIETT Thdd) (Z7)
A. Baguios 1. Australia - A, 3130 1. srfea
B. Hurricanes 2. China
. ' B. &t 2. 9
C. Typhoons 3. Philippines 3. R
D. Willy-Willies 4. United States | ©. Tt o JEC-.
of America | D. feelt- et W N
Codes : Qe
@ 3 4 1 2 . @ 3 4 1 2
b)) 3 4 2 1 | ® 3 4 2 1
€ 2 3 4 1 ) 2 3 4 1
d) 2 1 3 4 d 2 1 3 4
75 With reference to Eutrophication, which of the 75. AU (JTHIHTH) & A=Y H frafafea A |
following statement(s) is/are correct ? HH-91/4 FUF Fal 2/8 7
1. It decreases dissolved oxygen of wa;er. - 1. 98 9 § gfed S 1 F4 $dT 2 |
2 |Itis a phenomenon of nutrient enrichment | ' S . & :
ofawzterbody. > 7z el FIF™ F TN ded HayA il HEl @ |
Select the correct answer from the codes given | R f ™ Fe 7 v I IH
g | = -
(a) 1 only (b) 2 only l ) (0) ma;c .
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 1@ 2 i (d) FA 177 2
15-
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76. Darling range is situated along which of the
following coasts of Australia ?

(8) North-Eastern Coast

(b) Southern Coast

(c) Eastern Coast

(d) South-Western Coast

77. Arrange the following events iIn chronological
order of their commencement :
l. Project Tiger
Il. Project Elephant
. Wildlife Protect Act
IV. Biological Diversity Act

Select the correct answer using the codes given

below

Codes :

@) I, I, v x (b) 11, I, 1V, IN¥
(c) I, 1, 11, IV (d) NI, IV, I, I

78. Which of the following ocean currents is
associated with Indian Ocean ?
(a) Florida current (b) Canary current
(c) Agulhas current (d) Kurile current

79. The movement of nutrient elements through the
vanous components of an ecosystem is called

(a) Bio-geo-chemical cycle
(b) Bio-geological cycle
(c) Ecological succession
(d) Biological cycle

80. Match List - | with List — Il and select the correct
answer using the codes given below the lists -

List — 1| List — I
(Ethnic Group) (Country)
A. Jews 1. Egypt
B. Teda 2. Iran
C. Beja 3. Libya
D. Lur 4. Israel ,
Codes :
A B C D
@ 1 2 3 4%
) 4 1 2 3 '
(c) 4 1 3 2 .
(d) 4 3 1 2

Where was the Mitti Bachao
Movement started in India ?
(a) Thane, Maharashtra

(b) Mysore, Karnataka

(c) Darbhanga, Bihar

(Save the Soil) |

81.

(d) Hoshangabad, Madhya Pradesh

7

78

79.

80.

(b) 11, 1, 1V, 1l

%c:
(a1, 11, 11l IV (d) 1, V0,1

(c) ni, 1, 1, 1V |
Friferfiaa & @ -8 TEETTHA 9T fo=g mamgy, |
Q grafud 2 ?

(a) FAITTST U h) il |
(c) 3eTaETE uTd (d) LU= "1 |
TR 7 % R TeH A B G
el ol AT HEATAl 8

(a) SF-y - =

(b) Ja-yrhish =Tsh
(c) mftfeufas 4HA
CIEEIREES |
et — | gt — 1| & gafera Fifse qon g 3
= fodl M w2 | g I gfu
=i - | g—u
(T EHE) (291)
A. TG e 1. fom
B. 221 2. SH
C. 991 3. SAffe
D. X 4. 3T
%<
A B & D
(@ 1 2 3 4
(by 4 1 2 3
c) 4 1 3 2
(d) 4 3 1 2

mmfiﬁ'@amaﬁawﬂmm‘“ﬁmgan?

(a) UM, HEWIe
(b) BT, FAfew

(c) T, farEn
(d) BreMTETE, Heqwey

Scanned by TapScanner



e
g82. Which one of the
matched ?

following is NOT correctly

Count -
(a) I(*uﬂnrnccg) —~ g:aab‘:tta”
(b) Tunisia —  Tunis
(c) Algena - Algiers
(d) Cape Verde - Bamako

83. Without green house effect, the average

temperature of earth surface would be
(b) - 18°C
(d) —20°C

84 Postmasburg and its aq
Afnca is major prod adjacent areas of South

S ucer of which of the fulluwing
(a) Uranium b) Bauxite
(c) Manganese Ed% Mi{:-‘;l

85 The entire sequence

called

(a) Ecological succession
(b) Sere

(c) Community dynamics
(d) Pyramid of biomass

86. Match List — 1 with List — | and select the correct

anstviii usling the codes given below the lists -

. List -1l

(Mountain) (Country)
A. Atlas 1. France/Spain
B. Kalimanjaro 2. Ecuador
C. Chimbrozo 3. Tanzania
D. Pyrenees 4. Morocco
Codes :

A B C D

(a) 4 3 2 1
(b) 4 1 2 3
(C) 2 3 4 1
(d) 1 3 4 2

87. Which of the following natural substances
contains iron (Fe) ?

(@) Chlorophyll

(b) Collagen
(c) Keratin

(d) Myoglobin

88. In Malaysia, the ‘Kinta Valley' is famous for
(a) Rubber Production
(b) Tea Production
(c) Tin Production
(d) Coffee Production

RFL -1
82. fi=fafaa # A F-m v v wafea @i 2 7
(3m) (Tt
(a) ﬂﬂ\ﬁmﬂi{ﬁ[ =~ %Em
(b) TFAIR™I 7
(C) ?IF—"&ﬂft:-}"ﬂ -— :ﬁr_wﬂ'ﬂﬁ
(d) &9 T2 - AT TR

83. &fa & e (M BIW $Hae) F 3G H -HAE
&1 3NET qT9H A&
(a) 0°C
(C) $°C

(b) —18°C
(d) —20°C

84. cfell sufie @1 arenErt 3N IuwH wfigad] &
Frefafaa 4 & fem @t = ug@ 39Es 2 7
(a) gtfrm (b) =TeFHETSE
ORUEIF (d) 3W=

85. HHEHI 1 quishe = wHW: UH ffvad wm @
aceTdl 2, HEAE! 8
(a) wrftfrufaes 3 smn

(b) "t

(c) a9er Tfah

(d) S = fyofie

86. el — | @1 gelt — || ¥ gafer Fif qen giaai %

gt - | IR
(qeq) (@)

A. TZHH 1. %IE /T4

B. &fem=m 2. 3N

C. famat=h 3. qATEAn

D. It 4. HIEH

%2 :

A B
(@) 4 3
(b) 4 1
) 2 3
(d)y 1 3

87. ﬁ@ﬁf&mﬁaﬁmmﬁamﬁ@we)m
?

(a) TGS (b) hictsH
(c) Fufea (d) WA

88. Wity # ‘fpvey wrd witrg 2
(a)mm%ﬁl
(b) =T IeureA F few
(c) f&7 3 & ferw
(d) g Iaare & e

HhBONO
N 2w=0

17-
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89. Change in the base sequence within a gene IS 89. , :
called (a) IeafadH (b) Wereaur g6. W
(a) Mutation (b) Cloning % d) T
(c) Fusion (d) Breeding () -
90. The equator does NOT pass through which of 0. frferftaa # @ o Tl & B Y T TH
the following Countries ? JEiai e 7
1. Gabon 1. A
2. Somalia 2 amrfaan 97
3. Equatorial Guinea 3, U o |
4. Rawanda i g
Select the correct answer using the codes given . JRIE
below. ¢ . 2 fa M e | v I g |
Codes : RE : 98
(@) 1and 4 (b) 2 and 4 (a) 1 3 4 (b) 2 3 4 *
(c) 2and 3 (d) 3 and 4 (c) 2 3T 3 (d) 33 4
91. Which of the following is used in fire alarm ? 91. % ] ° FA=fefiga o @ IExsca 39 ﬁa"
(a) Photo cell t ST @ P
“€ ) Vios (a) B A (b) 9Tt
(c) Solar cell (d) None of the above (c) @R T

92. Which Part of the Constitution has the provisions
for Panchayati Raj System ?

(a) IX (b) VI
(c) 1 (d) IVA

83. Which of the following polymer is NOT a
thermoplastic ?

(a) Teflon

(b) Neoprene
(c) Polystyrene

(d) Polythene

94. When was the third tier added to Indian Federal
System ?

(@) 1990

(b) 1991
(c) 1992

(d) 1993

95. In human body, the digestion of protein begins in |

which of the foflowing organs ?

(d) Eqﬁaﬁﬁﬁﬁéqg}

92. dfaur & frd uM ¥ ot U9 sae
Ty R m # 7

(a) IX (b) VI

| :
© I (d) IV |

e B

o i
Bp—

I
4 gy
(a) Liver (a) Wg‘m b 1|
(b) Mouth T |
- (b) e |
(c) Small intestine |
(c) B arg |
(d) Stomach
(d) ATy
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i
. Which of the following is NOT pog
% parliament under Article 3 of ﬂpi!e é‘?:‘if’t” o —_—
(a) Formation of new States 'tution 7
(b) Alteration of areas of States

(c) Alteration of boundaries of States
(d) Admission of new States

g7. Use of polished rice in hum ‘
following diseases an diet causes |
(a) Ric+kets (5] Ansisia
(c) Goitre (d) Beriberi

g8. In the removal of which of the

does the Parliament NOT playf:::?v:g?eg ’?fﬁcials
1. Judges of the High Coyrt

2. Judges of the Supreme Court

3. Chairman of the Union
Commission

4. Comptroller and Auditor General

Choose the correct answer from th
below.

Codes :
(a) 1 and 2 only
(c) 1, 2 and 3 only

Public Service

of India
€ codes given

(b) 3 and 4 only
(d) 3 only

99. Which ofthe following vitamins is mainly responsible
for blood coagulation in human being ?
(a) Vitamin K (b) Vitamin E
(c) Vitamin A (d) Vitamin C

100. The supenntendence, direction and control of all

elections to the Panchayats are vested in
(a) The Governor

(b) The Election Commission of India
(c) The District Panchayat Raj Officer

(d) The State Election Commission

101. Consider the following statements about human

brain :

1. The brain is responsible for regulating the
heart beat.

2 |t is responsible for balancing the body.

Select the correct answer using the codes given
below.

Codes :

(a) Only 1 is correct

(b) Only 2 is correct

(c) 1 and 2 both are correct

(d) Neither 1 nor 2 is correct

96.

7.

98.

99.

100.

101.

(c) =

RFL - |

fr=fafiaa @ A S -a1 gfaum & 3g=8e 3 & TEd
HHE % U FHEE gl 89d TE R 7

(a) 7 TSl W1 TSA :
(b) U=l & &1 ° gftgds 2
(d) 4 U= H1 WG

Wmﬁmﬁmﬁwag‘aw%swu‘mﬁ
fFrafafaa & s 2
(a) H@ET T

Py 1 3 R-3 qerfreril # &eH 3 weg 6 e .
vty T &t R 7 |
1, I=9 =aTEd & A

2. I==dN =qTATErd & AT

3. eIy, g9 e 41 A

4. YT & frage 3t deeEaees
R fod M e A vl IR
Fe:

(a) shael 1qut 2
(c) Thad 1, 2 94T 3

Pt & @ wF-a1 fefie wqe 3 wa & 9
& fou firden ? 7
(a) faorfm =
ORECILERY

(b) faerfi= 4
(d) faarfys

YTt 3 fore S 9 are @il PrateeEt & g=eH
&1 arfiegor, freem 3 feam fafea &t &

(a) T=IITA |

(b) ¥rd % frafem smam |

(c) Fren Tamad T fuwrd |
(d)@ﬁa"ra'-rantﬁﬂﬁ

T qiSTsE & 9 # frefafgd sud ® feEn

1 HioTsE geantd = frafia @ & fon e R |
2. 7% Wi % Hqer & fere I @ |

¥ f@ ™ % | v IR I

T

(a) Fael 1 T& &

(b) hael 2 HE B

(c) 1 3T 2 Gl T B

(@TR 1T 288 R
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102
sy st Article 263
(3) Interstate Cnunc:y e o
(b) Finance Commission - ppegees?
(c) Admmistranve Tn't:pnal - ey
(d) Union public Servicé -
Commission

103 Which of the following substances is obtained

from a tree ?
(a) Asafoetida

(c) Tincal

(b) Bitumen
(d) None of the above

104. Which Article of the Indian Constitution descnbe
the Central Vigilance Commission ?

(a) Article 268 (b) Article 280
(c) Article 276 (d) None of the above

105. Given below are two statements, one is labelled as
Assertion (A) and other as Reason (R) :

Assertion (A) : Invert sugar is more sweeter than
sucrose.

Reason (R) : Invert sugar is obtained by the
hydrolysis of sucrose.

Select the correct answer from the codes given
below.

Codes :

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false

(d) (A) is false but (R) is true

106. Consider the following Chairpersons of the | 106.
National Women Commission :
1. Jayanti Patnaik
2. Mamta Sharma
3. Dr. Girija Vyas
4. Dr. Poornima Advani
Select the correct chronological order of their
appointment from the codes given below.
Codes :
(@) 2,1,3and 4 (b) 2,3, 1and 4
(c) 1, 3,4 and 2 (d) 1,4,3and 2
-20-

| 102. Wﬁﬁﬂm‘mﬁm@%ﬁmh

104.

105.

103.

RF

=)

(a) == 9IS = 3‘3?@*3263 1o
(b) fam amam - AT=T 23

(c) STRETE FAUET — 30T 393,

(d) §9 &I Fa1 FET — TR 315

Fraferfian 3 & - 92 2 & W e

(a) Em (b) fIresita

(c) HE™ (d) ITF | A T 34

(a) =2 268
(c) =g 276 (d) I9ga 4 A i 3

1 2 w5 oA ™, i A UF F FUA (A) g

a1 T (R) Fa1 TR

FerA (A) | oA Hl ﬁmmmmW

Bt 2 |

FHWOT (R) : TG IHT HI Ghia & Al -390 §

ured fepan AT 2 |

= fodt T g2 @ wd I I |

E(A)aﬁumaﬁaﬁ%mm).mmm
ST T 2

(b) (A) 3 (R) g1 H& & T (R), (A) I 7
ST A8 Ll 2

(c) (A) & 2 9 (R) Ted @

(d) (A) TTd & 9T (R) 4 2

Tt afgen amm & frafafea et w faar
$ifvu

1. 9G] 9IS

2. T Yl

3. g1. fifan =™\

4. 1. qformn argar

o PR w1 ad s R R ™ w3
g |

%2 :

(a) 2, 1, 33 4
(c) 1, 3,432

(b) 2, 3,134
(d) 1,4, 332
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' d sel
107 from th N oolect the correct
answer from tne codes given be| , 107.
List — | List—y . nelists:
(Metal) (Prope
A. Sodium 1. Good cul:g.!,ctm
of electricity
B. Mercury 2. Liquid at room
g temperatyre |
C. Silver ; Pmrmndumufh
ea
D. Lead 4, Canbeeaawmméﬁe
Codes :
A B C D
(a) 2 3 1 4
(b) 1 49 3 2
c) 4 2 1 3
d 4 1 2 3
108. Which region nf the Country conferred speci
status under Article 371-J of the Censtitut?nr? '2? o
India 7
(a) Nagaland
(b) Hyderabad and Karnataka
(c) Maharashtra and Gujarat
(d) Ladakh
09. Which one of the followin i
1 synthetic 7 g substances is NOT 109
(a) Fibroin (b) Lexan
(c) Neoprene (d) Teflon
110. Which one of the following is NOT corr
matched ? . Bctly | 110.
(a) Fundamental Duties -  PartivA
(b) The States -~  PartVl
(c) Attorney General of India -  Part Xl
(d) Services under the -  Part XIV
Union and States |
111. Match List — | with List - |l and select the correct | 111.
answer from the codes given below the lists :
List - | List-1l
(Substance) (Use)
A. Blue Vitriol 1. Artificial rain
B. Eosin 2. Fungicide |
C. Silver iodide 3. Red ink
D. Zinc phosphide 4. Rodenticide
Codes : |
A B C D
@ 2 3 4 1
(b) 2 1 3 4
) 2 4 1 4
d 2 4 1 3
A .21.-

e —

RFL - |

e — 1 1 e — 1@ g Aifr T gl
A R T Fe A T I IAT

- | T -

(&) (rqoTerd)
A. aifeam 1. Vel SE A0 GG
B 9 2 UL < d1d 9
C. =i 3. I peiEta
D. i () 4. =1 A A B FHE S

gl &

e :

(a)
(b)
(c)
(d)

R T % F=ae 371- 51 % Iwia 30 b
fra & ) fodm feufa weA R TS R 7

N =W =0
W wWMNAED

A B
2 3
1 4
4 2
4 1

(a) ATTTAUS
(b) BEUETE 3R FAEH
(c) Herre 3 eI
(d) Tiqqr@
frefefiaa § @ -a1 $im o 7 2 7
(@) HIFHTSA (b) A
(c) 3t (d) TFTH
frafafiga @ @ FF-o1 v 98 gafaa adi 2 7
(a) H&1 A - ¥MIVH
(b) T - MMV
(c) YRE T HETIIIdTe! — 97 X
(d) 99 3R U1 & FHH FEd - wm XIV
~ | — 11 8 gafera $Hifsu aen *
il - | gt - |l
(agred) (3 gram)
A. e e 1. Fim Tui
B. 33nifam 2. IS
C. it FMIEEe 3. @a wd)
D. {7 wiewrges 4. Frasmah (US=ATeh)
He
A B C D
@ 2 3 4 1
(b) 2 1 3 4
(c) 2 3 1 4
d 2 4 1 3

R N W S M S B s 3 e e e S —
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e
. ~
112, Which is the largest Committee of the Indian | 112, wRdta @6 &I =R 7 Qi ) l'
Parliament ? (a) GIERSLCI afufy % ? |
(a) Public Account Committee 1:
(b) Estimates Committee (b) WrehcTa Afufa |
(c) Committee on Public Undertakings (c) &t 3ushy gfnfy |
(d) Committee on Petitions (d) arfaeRt gfy |
113. According to the Report released by NITI Aayog | 113. fifa 3mam femran % |
in December 2019 on 'Sustainable Development A& YT -E-;Eiﬂ: :’3019201-9 " trffﬁ Ffr;;m
Goals India Index 2019-20', the Uttar Pradesh is I YeW i fasfafas el Rt 3 gy,
grouped under which of the following categories ? TR 7 bl T iy &mq |
(a) Aspirant (a) Hﬁﬁ&ﬁ (U'P:ﬁi'z) ‘ |
(b) Performer ‘ |
b) 3= Uevla JHTTHT |
(c) Front runner EC; Sl (w2 ITI(T) ) |
(d) Achiever |
(d) A& qreehal (ufrae) -
114, Which Articles of Indian Constitut -
0 Cilizenship 7 nstitution are related | 114, yrefg TRME % -3 S, T & et ' 4
(a) :rt;cle 3to 10 (b) Article 4 to 11 (a) 3= 37 10 (b) I 4q 1
(c) Article 5 to 11 (d) Article 6 to 11 (€) W5 11 (d) =Rz 63 1-
115.  Which of the following cities of Uttar Pr frafefag i
. _ adesh [ 115. 3 ' >
IS/are covered ur;derthga 'Hentage City Development & mﬁm% 3t mm i ?ﬂq_m/ H ﬁ”ﬂa
and Augmentation Yojana (HRIDAY)' ? 1< ) ey |
1. Varanasi . %mmwﬁﬁ /¥ 7
2. Mathura ; megT
3. Prayagraj '
84- Ayodhya 3 et |
elect the correct answer f i ' |
Felon. er irom the codes given D 3 m e A 8 I|W *‘jﬁQ | !!
Codes : R |
Eg)) } :ng*z (b) 3 only | (a) e (b) Fae 3 |
n (d) 1,2, 3and4 (c) 131 2 (d) 1.2 33 4 |
116. Given below are two statements, one is lab 1 HUA 7 8. 9 T -
S Aari T Lo SINNCTVS, Rn:gu:ﬂﬁ (El)le:d 16. g 1 mﬁi e HTET ;r Teh Sl HAUT (A) Fey
Assertion (A) : The nature of Indian Political o Syl
System embodies the elements of ‘continuity and HeA (A) : Wt TS SR Aol
;hange. 'ﬁmmvﬁaﬁq'%aﬁqﬁmﬁqﬁmﬁﬁ
eason (R) : The Indian Politi hHI0T : AT Ao saaee o
contains the)elements of the fgllg:'?iig iﬁ:gg} m&@ mzfﬁ 7 ﬂﬁmmﬂﬁ;
system such as the modern style, the traditional . _ s 91, TR e a1 Jq
style and saint style. Weft & dea FmifEd 2 |
E:llciit the correct answer from the codes given e fea ™ %2 H FE IW M |
* Fe:
Codes : . - -
(a) Both (A) and (R) are true and (R) is the - (@) () R (R) ¥ 7 & o R). (A) ! w8
correct explanation of (A) SAREAT AT :
(b) Both (A) and (R) are true but (R) is not the (b) (A) 3T (R) GHi et & W (R), (A) F1 w8
correct explanation of (A) ST T8l Hdl &
(c) (A) is true but (R) is false (c) (A) &l 2 71 (R) Teid 2
(d) (A) is false but (R) is true (d) (A) TTeTd 8 T (R) &t 2

, R :
I i S SRR 0 L L s s
T ARl valr T -2
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17. What should be

18. What can be the minimum

19.

20.

IJ

Total Fertili

opulation in ord ty Rate (Tr
Feuel of fertility 7 er to reach at the r {p|ase)n?érﬁ '
B ® 18
| (d; 2.3 '

strength of Council of |

Ministers including Chief Minister in the States ?
es

(a) 10
(c) 13

g met
used to estimate poverty i:?::iahgs!haue been

1. Head Count Ratio .
2. Calorie intake .
3. Household Consum
4. Per Capita Income

Ption Expenditure

the codes given |

below.

Codes :

(@) 2and 3 (b) 1,2and 3
(c) 3 only (d) 1,2,3and 4

The Supreme Court of India enunciated the doctrine
of “Basic Structure of the Constitution” in

(a) The Golaknath Case in 1967
(b) The Keshavanand Bharati Case in 1973 '
(c) The Shankari Prasad Case in 1951 l
(d) The Sajjan Singh Case in 1965

120.

RFL -1

17, W1 & ftreames s o gd=n & fem sewen

FA T @ (Ao, 31, ) @/ w= =nfee 7
(a) 1.0
(c) 2.1

(b) 1.6
(d) 2.3

| 118. Tl A wemiA afiw dffe § AfE 1 2Faw

T TR el £ 7
(a) 10
(c) 13

(b) 12
(d) 14

| 119, wwa 8 it 3% s 3 Foefefea § & FR-T/3

faftai =1 wam e s @1 272 7
1. far o fafy

2. Al Ty

3. gqifEtitas I =19

4. afa =afaq amm

2 f@ ™ 32} w& I IR )
Fe

(a) 2 3T 3
(c) shadt 3

WA ¥ FaT e 3 EfauE % s ge-
+ fagra = v

(a) TeteTy dTg 1967 |

(b) FyET< WAl arg 1973 1

(c) TRl wETE arg 1951 |

(d) T Tz a1 1965

(b) 1,23 3
(d) 1,2,33M 4

With reference to ‘Ayushman Bharat Yojana' which | 121, ‘afgs™ wra o % @ o Frefeied -

of the following statement(s) is/are correct ?

1. This Yojana provides free health insurance
of Rs. five lakh per person.

2. The expenses incurred in this Scheme
(Yojana) is shared between the Centre and

State in 60 : 40 ratio.

Select the correct answer from the codes given
below.

Codes :

(a) 1 only

(c) Both 1 and 2

(b) 2 only
(d) Neither 1 nor 2

Which one of the following is NOT correctly

matched ?

(a) Article 39A - Equal Justice and free

legal aid -
icle 40 — Organisation of Village
(b) Article Panchayats
' ' ivil Code
Article 44 - UmformlCIvl N
((S; Article 48 — Separation of Judiciary

from Executive

FH-T1/q FYT T 8/2 7
1. 98 Qe Wi safed ofe e 79 H g

2. 38 A BN T = H e 3 T
yrfterdt 60 : 40 % 3TUE H &l @ |

¥ A M e | T I IHTC

He:

(a) hed (b) haet 2

(c) 130T 2 3 (d) AA 1T E 2
122. ﬁmﬁf@aﬁﬁaﬁq—mwaﬁgﬂf@wﬁi%?

(a) 398 39A - WA A T R

fafus wgma@
(b) 3FEIE 40— TTH TR H HIST
() 3TIT 44 — WM A e

(d) 37=aR 48

¥ TR

-23-
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124.

125.

126.

123. The main objective of sustainable FDUfiSm IS 123.

(a) To increase the number of tr._::urlstﬁ

(b) To manage mass scale tourism and small
scale travel + |

(c) To manage tourism and environment while
maintaining cultural integrity and ecological
processes |

(d) None of the above

Consider the following statements in the context | 124.

of Attorney General of India :

1. The President shall appoint a person who
is qualified as to be appointed a Judge of
Supreme Court.

2. The Attorney General shall receive such
remuneration as the Parliament may
determine.

Select the correct answer using the codes given

below.

Codes :

(@) Only 1 is correct
(b) Only 2 is correct
(c) Both 1 and 2 are correct
(d) Neither 1 nor 2 is correct

With reference to the ‘HAUSLA — 2018 which of | 125.

the following statement(s) is/are correct ?

1. 'HAUSLA - 2018' was organised by the
Ministry of Women and Child Development,
Government of India in New Delhi.

2. It was National Festival for Children of Child |
Care Institution.

Select the correct answer from the codes given

below.

Codes:

(a) 1 only (b) 2 only

(c) Both 1 and 2 (d) Neither 1 nor 2 l

Given below are two statements, one is labelled | 126.

as Assertion (A) and the other as Reason (R) :

Assertion (A) : Indian federalism is called ‘Quasi-

federal'.

Reason (R) : India has an independent judiciary |
with power of Judicial Review.
Select the correct answer from the codes given
below.
Codes : . .
(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)
(b) Both (A) and (R) are true but (R) is not the |
correct explanation of (A)
(c) (A) is true but (R) Is false
(d) (A) is false but (R) is true
-24-

(a) gdeehi I @& |
(b) a3 AT T A T A G Ay
wa-y il o
m‘@:ﬁ-'im' Sl qrftfeufas R
(G)aﬁ@@q@ﬁww%ﬂ
(d) utiad | 8 g TE
W%mﬂﬁﬁ%mﬁﬁﬁﬁ%ﬁaﬁmﬁm
feram FifaT

1@ﬁﬁﬁﬁﬁﬁwﬁﬁﬁﬁ§ﬁﬁmm
amnqﬂluiﬂq%m?ﬂﬂﬁmﬂﬁgﬁa%h
318 B | e &

g_muaﬁmmﬁmmm:ﬂm
3@urid & |

fra felt T3 He A FE IW AT |

§W1H‘E‘T%

(b) el 2 HEl 2

(c) 1 3T 2 21 H&El &

(d) 3@ 198 25 2

Brael — 2018 & gy 1 Fr=ferRad 9 & ®R-m/3

w7 HEl /R 7 |

1. 'BYaeT — 2018’ T IATAT Afgel U 91
fqepra TFTe™, WG "R g A3 feeef 4
fepam T 41 |

o g gl il CE-1E HTA Il GENIT & =i
&1 TG Jcad AT |

fie fed ™ Fe | & IW T |

ﬁd:

(a) shad (b) e 2

(c) 1 3T 2 g (d) a1 1982

99 @ wuF fea T 3, 990 9 U &1 U (A) a0
A ! T (R) el T R

A (A) : YA TUTeHeS SHaeT &I 'Y -FUTeis
&gl A4 2 |

FROT (R) : YRG H Tk a3 Faqifes 2
=T A &1 AfYsr 2 |

fe i ™ %2 % 8§ 5t 3T g |

<.

(a) (A) 3 (R) 2Hi @&l & 3t (R), (A) I &&
SHTEH] LAl B

(b) (A) 3 (R) 2Hi @& € W (R), (A) i &
ST 781 hidl 2

(c) (A) §d & 9% (R) TTeid @

(d) (A) Ted & 93 (R) G &

e R T W T e | s
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"
==
F

india aims to achieve the 5 tri

sconomy by lion dollay
(a) 202; (b) 2024
(c) 202 (d) 2030

; Joint sitting of Lok Sabha and R
take place to resolve dEadlnck

(a) Ordinary Legislation &
(b) Money Bill ¢~

(c) Constitutional Amendment Bill
(d) Appropriation Bill 7

dlya Sabhg Gan

Human Development Re
Multidimensional ngenypﬁ*;tdreplacefd it with

yEEI‘ ex (MPI) in the
(a) 1999 (b) 2005
(c) 2010 (d) 2015

Which of the following gave legal basis to extra-

over 128,

qrHg i

overty Index (Hp 129.
P but T i 1997 1 wieqn <1 TR, e wA TR

RFL -1

127.
;m‘égﬁ‘%mm rleraTen &1 S A da 9T

() 2022
(c) 2026

& & T R 7

(b) 2024
(d) 2030

Frtfeafiaa & & fom o iy gu e 3 < T

3N T TN A G AoF A GFA R 7
() T Fadrges

(b) v fauws
(c) TAfer Hynu fauas
(d) fafam e

o (v=.M.2113.) H U g

frdté 3 38 = zmgnd e gE (T, g
frafafian @ ) feg od # wieeniud S e 7
(a) 1999 (b) 2005

(c) 2010 d) 2015

ordinary powers exercised by the Government 130. T, 3 A e WEAR 3 TR0 340 S

of India during Lockdown ?
1. Mental Health Care Act. 2017
2. Disaster Management Act, 2005

3. Enemy Property Act, 1968
4. Epidemic Diseases Act, 1897

Select the correct answer from the codes given
below.

Codes :
(a) 1,2and 3 (b) 2,3and 4
(c) 2and 4 (d) 1,3 and 4

Given below are two statements, one is labelled | 131

as Assertion (A) and other as Reason (R) :

Assertion (A) : Government has launched the
‘National Infrastructure Pipeline (NIP)' for period
of 2020-30.

Reason (R) : The objective of NIP is to provide

equitable access 10 infrastructure for all.

Select the correct answer using the codes given

below.

Codes : |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A) |

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is trué but (R) is false
(d) (A) is false but (R) is trué

-25-

ot =t fafiss amam Frefefaa 8 8 fF S
B W BT ?

1. HeA &od W e, 2017

2. fesreer fawe uae, 2005

3. y-geafa an uf el T, 1968

4. tfushis fesfios wae, 1897

= fed ™ e A @ I I |

E A

(a) 1,2 3N 3 (b) 2,3 3N 4
(c) 2 3 4 (d) 1,33 4

S e R 2, e A O R (A) T

ZE F FA (R) FE TR :

o (A) - T grETTE EEeE (W.3s.)

ESLCOLEARY 2020-30ﬁaqaﬁ1%%mwm

TR

o (R) - . 38, 7 3w T i EA e

gﬁwmm%l

3 fot T e @ FE IACIAT

E(MW(R)‘&@?W%@(R), (A) < &
SITE Sl

(b) (A) @@ (R) 31 & & 7 (R), (A) I TR
ST TE A B

(c) (A) T & T (R) T R

(d) (A) T 2 T (R) T R

- - & - Wiy
- : ¥ = - R e, R
i =T N i P b T i T e il s = M - Pl ‘.‘
4 o L N By % . 3 ik A A o .l'l r-“' L : ¢
A i i hl‘r_- ¥ H slis S o A i " ¥ _
LT S " i il Pl : L7 £
" n & 3 . "

BRI R T L e e T
A o e L
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ist — | with Li

1= gaiﬁgi_ using the codes
List—1

(Article)

A. Article 61

st — Il and select the c_-nrrect
given below the lists :
List -1l

(Provision)

1. Removal of Deputy

Chairman of Rajya

Sabha

Impeachment of

President

Removal of Vice-

President

Removal of Speaker

B. Article 67(b) 2.
C. Article 94 3.

D. Article 90 4.

Codes :
A

(@) 2
(b) 3
(c) 2

B
4
2
3
(d) 4 1

W H B WO

D
1
1
1
2

133. With reference to the World Bank's Ease of

Doing Business Report, which of the following

statement(s) is/are correct ?

1. In Ease of Doing Business Report 2020,
India’s rank is 63.

2. India ranking for Ease of Doing Business in
the year 2019 was 77.

Select the correct answer using the codes given
below.

Codes :
(@) 1 only

(b) 2 onl
(c) Both 1 and 2 ) .

(d) Neither 1 nor 2

134.  On which of the following dates, Constituent
Assembly of India adopted the National Flag ?
(@) 22 January, 1950

(b) 24 January, 1950
(C) 22 July, 1947
(d) 22 July, 1948

135, Limit of investment for outstanding corporate bond

for Foreign Portfolio Investment | |
2020-21 has been extended uptt:::m el o

(a) 9% 9
@ 125% @ 1%

36. In which of the following places the B

Park is located in Uttar Pradesh ?

(@) Kanpur (b) Ghaziabad
(c) NOIDA (d) Lucknow

lo-technology

| 134.

| 135.

132.

133.

136.

RFLH‘
— 1 gt - 11 A gafa i qe oo
"FEﬁ"I 'FEﬁ-II
( ) 1. U™ éa)
A =25¢ 61 Y1 & 3Jg-
! &M oy
B. 31=8¢q 67(Q) Z.Uﬁqﬁ‘lmﬂﬁrﬁmﬁn
c_aqi‘wr;i?;tgtl 33"1'{'@51'&[3#[@?[
D. 31T<8q 90 4. TR 1 BT
&e
A B C D
(a) 2 4 3 1
(b) 3 2 4 1
(d) 4 1 3 2

fava d= 6 59 AT 351 faorm faR F o= i

Fferfiga wemt 2 | SR-w1/3 Fu7 wd 273

1. 39 3% g3 faora fraid 2020 # wra =
63 a1 TIH 2 |

2. 99 2019 1 39 1% g3 faera A Wi =y
77 91 T 97 |

A= i ™ e @ v 3w gf |

%T

(a) e 1 (b) Had 2

(c) 1 3R 2 2 CELEES T,

WA 1 wfau™ @ 3 fafafes ¥ 3 fag fify <
TS &S Sl AT 2

(a) 22 s9adt, 1950
(b) 24 S==lt, 1950
(C) 22 13, 1947
(d) 22 JT3, 1948

qﬁiﬁ%ﬁﬁ%ﬂﬁ?ﬁmwamﬁ%
(a) 9% T (b) 10%
(C) 12% =% (d) 15% dh
mui’mﬁm—éﬁahﬁm%ﬁtﬁﬁaa
H Fgl feug & 2 -
(a) SR (b) MRETETE
(c) e (d) SES
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éé viatch List — | with List - || angd sele

- =T

_ ct th
37 answer from the codes given belgy th:l;‘::.em 137, &= -1 et - || @ gafem it T ;ﬁzﬁ =
List - List—) = R ™ w2 § 5l 3w g
(Scheme) ~ (Launching yeq, i ulnd p :ui
A P.M.JanArogyaAbhiyan 1520 (FrT) (s =)
3 P.M VE?}E Vandan Yojana 2. 2018 A. T, 59 I sfae 1. 2015
c. P. M. Rojgar Protsahan Yojana 3 5045 B. dt.un. =q dex d@rn 2. 2018
o Swachh Bharat Abhiyan 4. 2014 g. 108, TS SiieaTes AT i i‘;i
codes ; ﬁ- =0 G AT
A B ©C D 5 B2 _— .
3 1 C
(% 2 3 4 1 ) 1 2 3 4
§2431¢_ ¢ 2 3 4 1
g | . d 2 4 3 1
elopment, Monitorin ;
 Thie DAYE : 9 and Evaluation Ry, A T - IR E Al T
Office. whmh monitors the progress of long term 198, fify : -whesis ﬁr:r’f%rﬁ:: i3 e
policies in an attached office under mm mﬁm.i v B,
(a) Prime Minister Office a.;f i R 7
(b) Ministry of Home Affairs EE;% .
inet Secretariat
(C) Cabine
iy

) Which oné of the fqllnwing Is NOT a green house
gas found naturally in the atmosphere ?

(a) Nitrogen oxide (b) Carbon dioxide
(c) Methane (d) Ozone

139.

Which of the following statements is NOT correct
for National Pension Scheme for Retail Traders/
Shopkeepers and Self-employed persons ?

(3) Those who are in age groups of 18 to 40
years are eligible,

(b) Their annual turnover should not exceed
1.5 crore rupees.

(G) National Pension Scheme's member are
also eligible.

(d) It has @ monthly minimum assured pension
of Rs. 3000.00.

With reference to the programme “NIDHI" which
of the following statement(s) is/are correct ?

1. The programme of "NIDHI" was started for
students to begin start ups.

2. Its aim is to financially support 20 students
for start up in each year.

Select the correct answer from the codes given
below.

Codes :
(a) 1 only
(c) Both 1 and 2

(b) 2 only -
(d) Neither 1 nor 2

140.

141,

Prerfefad § @ F-a1 th WHfas &9 7 agHUS
4 9 9 areft 1 weE T AE R 7
(b) THTEA SEHATHATES

(d) A==

ﬁﬁfﬁiﬁﬁﬁﬁﬁﬁq-m%@mm/@ﬁrﬁ

3 AT safFad & O TR TeE A

% 1 4 Hal @l @ 7

(a) 18 § 40 T4 3Ty =1 & AN 36 I R |

(b) IThT I - (THAR) T 1.5 FS
g fis T 8 |

(c) TR T9= AT o Teed §6eh I13 @ |

(d) 38 r=Td s941 3000.00 1 WIS 4

gffea g |

By e % Tl o B # ¥ Sm-w/R S

@ R/E 7

1, "“Fift e ol 5 e ®R o™ TG IO
foran man 2 |

2. 36 Jevd 20 BT & WIE 39 7g oy
foeia gemaar s R |

fo f@ ™ e | wd I Y |

w2

(a) I 1 (b) e 2

(c) 1 3 2 g (d) IR 1T E 2
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142 Generally, environment €

143.

144.

145.

'146.

an be classified as

g the following

following categories. Which amon

is NOT a part of such category 7
(a) Operational Enuirnnment-
(b) Physical Environment

(c) Cultural Environment

(d) Biological Environment

ts. one is labelled
' below are two statements, -
stzf:sertinn (A) and other as Reason (R) :

‘ - ion Budget 2020-21
Assertion (A) : The Union 202
has focused(cm Rural Development with aim of

doubling farmer income. | .
Reason (R) : The 16 Action points announce
in the budget is centred around agriculture,

irrigation and rural development. |

Select the correct answer from the codes given

below.

Codes : |

(a) Both (A) and (R) are true and (R) is the
correct explanation of (A)

(b) Both (A) and (R) are true but (R) is not the
correct explanation of (A)

(c) (A) is true but (R) is false
(d) (A) is false but (R) is true

The concept of ‘Ecological Transition' was first
used by

(a) Elton
(c) Berkeley

(b) Bennett
(d) Ratzel

The Travel and Tourism Competitive Index (TTCI)
IS released by

(a) World Bank

(b) International Monetary Fund

(c) World Economic Forum

(d) United Nations Development Programme

Which of the following are the impacts of Global
Warming 7

1. Rise in sea level

2. Melting of glaciers

3. Spread of diseases

4. Bleaching of Coral reefs
Select the correct answer using the codes given
below.

Codes :
(@) 1,2and 3only  (b) 2and 3 omy”
(c) 1,33nd4onlY (d) 1,2,3and 4

142.

143.

| 144.

145.

| 146.

:ﬁgawﬁanﬁ%,ﬁﬂﬁﬂ@ﬁmmw
a1 H (R)mmmn%z:ﬁwﬁﬁ

: 3¢ 2020- 3y
ggﬂmmmm mir%
fopar T 2 |
ron (R) ; i 8 i 16 A FRIHH P, firany
wmﬂwﬁmﬂ%%%ﬁﬁ% |
A3 R T F A TE IT H T HINC |

E(A)aen (R) i & & a1 (R), (A) = &
=TT hidl

(b) (A) T (R) 3 &1 & 76g (R), (A) 1 &
e T8 Ll 2

(c) (A) & ? T (R) TeTd &

(d) (A) TEd ? T (R) 4 2

iRl ThHYT JEURON s BEUH T4 fe
T

(a) Teed gl (b) S92 gNI

(c) Shl g (d) I g

Yo7t wug ofte SiafiaTeas gaeih (8.8.49.31m.)
ST fomn e @

(a) farza <= g

(b) ST qoT Y ZRI

(c) fava anfils 5= g

(d) T Tsg Torepra rism g

Prerffas f & B-a1 3RS arghy (et i
HT AN B 7
1. G5 I dc bl del

2. fermdt =1 fraen
3. ATt 1 S
4. voTa ™ifd 1 fata= g

e I H g A el M g @ Aifv |

Q.
(@) I 1,233 (b) whael 2 3N 3
(c)daad 1,334  (d) 1,2 33N 4
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sonsider the following events
1 chronological order -

1. Establishment of NABARD

3. Kisan Credit Card Pign
4 Establishment of Regiona| Rural Bank

select the correct answer from th
€ Codes give
n

147, Trafafiga wemsii w fagn i a3 37

RFL - |

.__‘t;lr'l-'.'“‘,,,. ! ey H

o .
o g

PITHATTAN Saferq Hif . B
1. Frare < T
2. T Rl AR 1 4% feTehd A
3. Tram sfez +r A

4. &g amdior = it w2

yelow. : '
:ﬁ% l : ‘E'.e.
. G2 ™ e 4 gd 3 g
c)1,2,3,4 (d) 4 ' ol 2 Sk 3
13| 2.1 (C) 1.2 3 4 2 1 LS
2.3, (d) 4,3, 2,
z\rrange the following events in ch :
srder and select the correct answ;??:tlglcal 148. Frafafiga gemiali =i FEmTHus 1 =qaferd %
sodes given below : i the R 7o = f m He A T IW IFT i
| Rio Earth Summit |. & geeft faran gy
1. Publication of Brundtiand Commission Report II. FeeIvg 3a fdid =1 wehTeH “ "
|I. Enforcement of Montreal Protocol 1. BT Wetehier =1 Taa-
v. Publication of “The Limit to Growth' Report V. < feifie g o fraré =1 s
Codes :
| fc:
M L ":'I I: ; i) W, 1, J (@) 1, IV, i, (b) IV, 11 111,
hC) Iv| I"-l ' (d) IV, |, HI, “r_ (C) lV, l"l "1| I (d) IV, l, “I| “
With reference to the Skill India Campaign, which 149. e NI 3 F T 1 Frefafad # & fa-m/4
of the following statement(s) is/are correct ? o T 2/3 7
1. Prime Minister had launched the Skill India ' :
Campaign in July 2015, 1. SHIIA YA afﬁaﬂ. 61 I U 3
2. The main objective of this Campaign T 20151 1 ot |
was to train India’s Youths in information 2. 38 FAEH =1 g I WA 5 AHAT F
technology. AT qhsh § NI T o1 |
Select the correct answer from the codes given = f M %2 g g I g |
below. _
Codes : | > 3
; (a) shad (b) sHad 2
(a) 1 only (b) 2 only .
(c) Both 1 and 2 (d) Neither 1 nor 2 (c) 13 23 (@) AW AT 2
The National Chambal Sanctuary does NOT fall | 150. T aﬁ'_;‘ I Fefefed § 8 R TS
e ?
in which of the following States ? qﬁu%mi N—
3l
(a) Uttar Pradesh (b) Madhya Pradesh @) ((d;
{€) Haryana (d) Rajasthan L T e
.{
.29
P B :"'-'-- AP nn % g PEORN AP RE
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